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1. Which of the following is a dubious ({IEETTIE) reason for leasing (FHE) ?
A. Tax shield can be used to reduce the tax payments,
B. The lessor (H{#i+%) has comparative advantage in providing efficient
maintenance. on the machinery rented.
C. Standardization leads to low administrative and transaction costs.
D. Leasing avoids capital expenditure on the machinery.
E. None of the above.

2. Which of the following are (is) correct capital budgeting rules 7.
I. Include changes in working capital. 1. Exclude opportunity costs.
HI. Include sunk costs. IV, Use accounting earnings.
A. Tonly.
B. Iand I'V only.
C. LIII, and IV only.
D. 1, I, and IV.
E. None of the above.

3. Your father just gave you a trailer as the Eirthday gift. There is an active market
for the trailer equipments, and the machines similar to yours are selling for $4,000.
If the trailer is rented out, net cash flows are expected to be $500 a year, forever.
How much is the trailer worth ? Your financial advisor told you that you should
use a discount rate of 12%. .
A. $4.167 _
B. 8 Less than $4,167.
C. More than $4,167.

D. $4,000
E. None of the above.

4. Which of the following observations in the stock market would contradict (HES)

the weak form of market efficiency ?
I. The average annual stock return js positive.
IL. The correlation between the stock return at one week and the stock return at
the next week is positive.
III. The stock price after the ex-dividend date will be the same as the stock price
before ex-dividend date. (FFHEE . H 5D
A. 1, H, and HI.
B. I and 11T only.
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C. land Il only.
D. Iand Il only.
E. U only.

5, The stock price tends to decrease when the company issues additional stock
because '

A. Increased supply, with a constant demand for stock, leads to a pﬁce decrease.

B. Earnings per share will decrease because the number of stock goes up.

C. The stock market expects that managers will issue stock when they think the
firms stock is undervalued. _

D. The stock market expects that managers will issue stock when they think the
firms stock iz overvalued

E. None of the above.

6. One possible reason that stockholders often insist on higher cash dividend is:
A. They agree with Miller and Modigliani Proposition L
B. They agree with Miller and Modigliani Proposition IL
C. They do not trust managers to spend the firm’s money wisely.
D. The stock market is efficient.
E. Tax reason: capital gains’ tax rate is 0 while cash dividend’s tax rate is

positive,

7. Apple Company and Banana Company have decided to merge (5§). Both
companies have debts outstanding. After the merger, the new firm is responsible
for these debts. Other things being equal, which of the following is correct 7
Assume the synergy is 0.

A. The total market value of the two companies’ debts is increased because the
debts” risk is reduced.

B. The total market value of the two companies’ debts does not change.

C. The total market value of the two companies’ debts is decreased because the
debis’ risk is increased.

D. If Apple Company is more risky than Banana Company, the market value of
Apple Comipany’s debt will decrease.

E. Depends on corporate tax rates.
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8. What can you deduce about forward rates of interest if the liquidity

premium hypothesis of the term structure is correct?

A. The forward rate is greater than investor's expectations of next
years one year interest rate.

B. The forward rate is equal to the risk-free interest rate.

C. The forward rate is less than investor's expectations of next
yvears one year interest rate.

D. The forward rate is egual to investor's expectatlons of next
years one year interest rate.

9. An investment project is most likely to be accepted by the payback

period rule and not accepted by the NPV rule if the project has:

A. a very large negative cash flow at the termination of the project.

B. The payback period rule and the NPV rule cannot be used to
evaluate the same type of projects.

C. a large initial investment with moderate positive cash flows over
a very long period of time.

D. A1l projects approved by the payback period rule will be accepted
by the WPV rule,.

E. most of the cash flow at the beginning of the project.

10. Financial managers must be cognizant of market efficiency because:

A. timing security sales is futile because without private
information the current price reflects all known information.

B. manipulating earnings by accounting changes does not fgol the
market.

C. there ig limited price presgsure from any large sale of stock
depressing prices momentarily which then recover to prior levels.

D. all of the above.

E. none of the above.

11. In the presence of personal taxes the MM irrelevance proposition does
not hold because:
A. managers hkave an incentive to seek alternatlve uses for these
funds.

B. personal taxes always increase the wvalue of dividends.

C. personal taxes reduce the value of dividends but are not sufficient
to eliminate all dividends.

D. a and b.

E. a apd c.

12. The P/E ratio is a multiple of earnings that investors pay for a

stock. The P/E dis __ -~ related togrowth, __ related
to the discount rate, and related to the stock's risk.
a. positively, positively, negatively.
b. negatively, positively, positively.
c. positively, negatively, negatively.
d. negatively, negatively, positively.
e. none of the above.
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13.

14.

15.

The gain from exercising a warrant is similar to the gain from

exercising a call option except.

A. the gain on a warrant is greater by the fraction of warrant
shares divided by total shares.

B. the gain on a warrant is limited by the firm's wvalue after being-
reduced by the debt of the firm.

C. the gain on a warrant is decreased by the fraction of original
shares divided by total post exercise shares.

D. a and b,

E. b and c.

The WACC is not used in the lease versus purchase decigion because:

. the WACC is used only when a lease alone is considered and not

a lease versus purchase.

. when a bank arranges a lease they do not congider the lesgee's

cost of capital.

the WACC was used in the decision to acquire the asget, this is

only a financing decision.

tax rates of the lessor may be different than the lessee and

. therefore the WACC is incorrect.

E. the WACC does not include the lease cost of capital and therefore
should not be used.

U o wop

If the use of supplier financing decreases and is replaced by cash
financing for the same level of business activity, the cash cycle

will: :

. decrease because days in payables decrease.

stay the same because tha change is only on the operating cycle
. 8tay the same because cash is used for payment.

increase because days in payables decrease.

stay the same because businessg activity does not change.

MO E
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Given the following information on 3 stocks:

Stock A Stock B Stock ¢ T-Bills Market Port

Exp. Return .19 .15 .09 .07 .18
Variance .0200 .1196 .0205 .0000 .0064
Covariance with

Mkt Portfolio .007 . 0045 L0013 .0000 .0064

Using the CAPM, calculate the expected return for stocks A, B, and C.
Which stocks would you recommend purchasing?

. As Chief Financial Officer of Downhill Unlimited, a manufacturer of

gki and sledding equipment, you have to decide on how to finance your
new ski board facility. Downhill wants to be the leader in ski boards
and the estimated cost is $150 million for the facility. As an
established firm they want to maintain their 30% dividend payout

from earnings. You always keep cash on hand to a minimum and expect
to raise any additiomnal capital externally so that the financing of
the project has a debt to equity ratio of 2/3. The projected income
statement is as follows:

Revenue 5397.15 {in millions)
CGES 238,29

Contr. Margin  158.86
5¢ & Admin 30.00
Depreciation 22,00

EBIT 106.86
Interest ' 15.00
EBT ' 91.86
Tax (.30) 27.56

Net Income$ 64.30
Determine the additional capital that will be needed to maintain the
2/3 debt to equity ratio.
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(10 73} ~— ~ A manufacturer of farm machinery receives bolis from six different suppliers.

' Random samples of 100 bolts cach were drawn from shipments from each of the
six suppliers, and the number of defective bolts from each was noted. These
numbers of defective bolts were 6, 7, 17, 8, 10, and 4. Test the null hypothesis
that the probability of receiving a defective bolt is the same from all six
suppliers.  Xaps s =11.07, Xgy5 5 =12.59

(1047) =~ A homeowner dept track of his electric bills for four years. The quarterly data of
these four years is listed in the following table. Fit a least squares regression
line to these data by letting the 16 quarters be represented by the integers 1 to 186,
(e, X=1,2,..., 16).
a. Use a level of significance of o = .05 to test the hypothesis:

Hy: B =0versusH,: f>0. (3.X=136,3 ¥ =2208, X¥ =19932,8, = 4.76},

S, =31.016,y X’ = 1496,21’2 =319.134,405,4 =1.7613, 05,5 = 1.7531)

b. Find a 90% confidence interval for 4. '

(10 43} = - Test the null hypothesis H, : g = s, = p, = g1, = 1, for the productivity of five
workers.  Let o= .05 and state the p-value. What assumptions are you

’

making regarding the samples? The computer output is as follows.

SUM OF SQUARES - MEAN
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{20 43) P9 - For 25 recent sales of condominiums, the selling price, age in years, square

footage, the number of bedrooms and type of parking for cars are given follows.

a. Write a model that incorporates age and square footage as quantitative
variables and type of parking as a qualitative variable, using a dummy
variable. Do not include interaction terms.

b. Write a model that incorporates square footage as a quantitative variable and
number of bedrooms as a qualitative variable. Do not include interaction
terms. )

c. Ifwe fit the following model: ¥ = g, + Bx, + 5,0, + 5,0,

¢ Where
D=1 if2 bedrooms, 0 otherwise
Dy=1if 3 bedrooms, 0 otherwise
Write the overall prediction equation indicated by the following.computer

printout of results.






